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Please check that this question paper contains 5 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 15 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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General Instructions :

(i)
(ii)
1.
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All questions are compulsory.

Marks allotted to a question is given against each question.

T HMETEE S 3
() 1024 &T3H

(@) 10240 9T13¢9

(M) 1024 forelt sT3EE
(") 1024 foem

A Mega-Byte is equivalent to
(a) 1024 Bytes

(b) 10240 Bytes

(c) 1024 kilobytes

(d) 1024 Bits
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The software which establishes communication between various hardware
devices and software loaded in a computer is called

(a)  Programming software
(b)  Office tool

(c) Operating system

(d)  None of the above
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(%) 255
(@) 18
([ 72
(9) 64

Maximum characters in a username could be

(a) 255

(b) 18

(c) 72

(d 64
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Pulse of a casualty can be checked by placing fingers at

(a)  Shoulder

(b)  Wrist

(c) Abdomen

(d)  All of the above
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5. PSARA-2005 % 37aia st guem M & fow fehawt =1e st wf¥reror fwifa fepen
TE ?
(%) 160
(@) 175
(1) 106
(F) 225

How many hours of training are prescribed for private security guards

under PSARA-2005 ?
(a) 160
(b) 175
(c) 106
(d 225

6. wiasr fafy o foru fereht Shr=T <1 AT fehaT 81T 2 2
(%) WA I F 13-5%
(@) ¥ I F 12%
() P I B 20%
(%) ST | H i T
What is an employee’s contribution towards the Provident Fund ?
(a) 13-5% of the basic wage
(b) 12% of the basic wage
(c) 20% of the total pay

(d) None of the above
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7. T9 R TWH fheehiT § 119 =1 Tweld 3 ? 2
What do you understand by Spam and Spam Filtering ?

8. U Hidal (Shi-eae) T TUIGT 3T hdl Hil ? 2

How would you edit a Contact ?

9. foreht fsft geem ot & wreATeTs @ @ ar | Haw H auiq Shifu | 2

Briefly describe the organisational structure of a private security company.

10. 9Ea IO SO (VEE heldl foed) o Tq@ beeh 1 3 2 2

What are the principal components of an Access Control System ?

11. FHHAW TsF S ASHT 6 91 | gfegeq feoaoft faRaw | 2

Write a short note on Employees State Insurance Scheme.

12. foeeq gigea=w & R § gfgea feweft fafew | 3

Write a short note on System Software.

13. TET T % AU FA1 8 ? IW GHSAWE H1 ITAR I HH HU {8 HAEE
B ? 3

What are the signs of shock ? How would you treat a casualty, who is
under shock ?

14. AHa YRR 1 I3 YoMt R/ T feoauft fofem | 3
Write a note on the Urinary System of the human body.

15. I 9T ¥ T&d foret Tt 1 319 o= muifies Su=R e 2 5

What first aid would you give to a patient who has suffered a heart
attack ?
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